
Page 1 of 3    PIN18 
 
 
 
 

 

R&G 
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ 

Tel: +44 (0)1420 89007  Fax: +44 (0)1420 87301  www.rg-racing.com  Email: info@rg-racing.com 
 

FITTING INSTRUCTIONS FOR PIN18 SIDE STAND PIN TO FIT 
HONDA CB1000R 2021-  

 
 

This Kit contains the items pictured and labelled over page. 

Some parts may be shown for clarity of instructions only. 

Do not proceed until you are sure all parts are present. 

Please read all instructions before proceeding. 

 

IF IN ANY DOUBT WHEN FITTING OUR PRODUCTS, CONSULT ONE OF OUR DEALERS 
OR HAVE FITTED BY A QUALIFIED TECHNICIAN. 

 
 

Please note that the way the kit is packed does not necessarily represent the way of 

mounting to the bike. 

In the event of rubber washers being used to hold components onto bolts,  

these rubber washers can be thrown away. 
 

DIGITAL COPIES OF THESE INSTRUCTIONS ARE AVAILABLE FROM  

WWW.RG-RACING.COM 
 

http://www.rg-racing.com/
mailto:info@rg-racing.com


Page 2 of 3    PIN18 
 
 
 
 

 

R&G 
Unit 1, Shelley’s Lane, East Worldham, Alton, Hampshire, GU34 3AQ 

Tel: +44 (0)1420 89007  Fax: +44 (0)1420 87301  www.rg-racing.com  Email: info@rg-racing.com 
 

 
 
  

TOOLS REQUIRED 

• EXTERNAL CIRCLIP PLIERS 
• 6mm HEX KEY 

 
  
  

GENERAL TORQUE SETTINGS 

M4 BOLT = 8Nm 
M5 BOLT = 12Nm 
M6 BOLT = 15Nm 
M8 BOLT = 20Nm 
M10 BOLT = 40Nm 
M12 BOLT = 40Nm 

 
 
 

ITEM No. DESCRIPTION QTY 
ITEM 1 PNSH0004 PIN SHAFT 1 
ITEM 2 PSV0013 LHS SUPPORT SLEEVE 1 
ITEM 3 PSV0011 RHS SUPPORT SLEEVE 1 
ITEM 4 23.2MM EXTERNAL CIRCLIP 2 
ITEM 5 CAP HEAD BOLT M8x25MM 1 

 

 

LEGEND 

http://www.rg-racing.com/
mailto:info@rg-racing.com

